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d"b|f Joj:yfkg ljefu

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 6,326,747,509         1= ljb]zL d"b|f / ;]So"l/^L 364,846,956,000           

2= rng rNtLdf /x]sf] gf]^ 358,520,208,491   

hDdf lgisflzt gf]^ 364,846,956,000         

hDdf bfloTj 364,846,956,000          hDdf ;DklQ 364,846,956,000          

OSjL^L tyf bfloTj ?= ;DklQ ?=

1 d"nwg 3,000,000,000             1  gf]^ 6,326,747,509               
2 ;fwf/)f hu]*f sf]if 21,668,832,750             2  /]RsL -                             
3 df}lb|s bfloTj sf]if 3,489,959,379              3  ljb]zL d"b|f 18,872,594,880            
4 ljsf; sf]ifx? 13,794,237,025             4  ljb]zL a}+s df}Hbft 162,369,593,872             
5 #=;f=p= ljsf; sf]if -                            5  P;=*L=cf/= ;+lrtL 3,499,627,286               
6 ;^xL ;lds/)f sf]if 64,644,714,329             6  ljb]zL a)* 128,446,063,072            
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137              7  vl/b / l*:sfp)^ u/]sf] ljn

8 ;]So"l/^L k"g/d"Nof+sg sf]if (106,301)                         -s_ :jb]zL 60,250,889                  
9 lgIf]k      -v_ ljb]zL 459,863                       
   -s_ g]kfn ;/sf/ 94,222,376,133              8  nufgL

   -v_ afl)fHo a}°x? 112,370,196,868               s= ljb]zL ;]So"l/^L 222,865,058,910           
   -u_ ljz]if lgIf]k 119,100,000,000              v= g]kfn ;/sf/sf] ;]So"l/^L 21,205,739,517              
   -#_ cGo 79,572,482,378                u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,423,761,888               
10 e"QmfgL lbg"kg]{ lan 305,450,652                    #= l/kf] ljb]zL -                             

     ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000                  
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 200,000,000                9  shf{ / ;fk^

12 P;=*L=cf/= af¤*kmf¤* 10,074,314,178                s= g]kfn ;/sf/nfO{ -                             
13 cGo bfloTj 71,668,339,285                 v= jfl)fHo a}+sx?nfO{ 2,319,572,887               

     u= ljQLo ;+:yfx?nfO{ 47,900,000                  
     #= :yfoL t/ntf ;"lawf -                             
     ª= cGo shf{ / ;fk^ 4,516,004,437              
  10 ;"g df}Hbft 1,597,588,552               
  11= cGo ;DklQ 24,009,024,250            

hDdf OSjL^L tyf bfloTj 598,590,987,812          hDdf ;DklQ 598,590,987,812          
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